
Ear Warmer
Finished Size: 43/4" (12 cm) wide 
	 Fits 21" (53.5 cm) head circumference

MATERIALS
Medium Weight Yarn

[3.5 ounces, 280 yards 
(100 grams, 256 meters) per skein]: One skein

Knook size I (5.5 mm)
Yarn needle

GAUGE: 	 In Stockinette Stitch 
	 (knit one row, purl one row), 
	 15 stitches = 43/4" (12 cm)

EAR WARMER
Ch 15.

Pick up 14 sts on foundation ch: 15 sts.

Row 1: Purl across.

Row 2 (Right side): Knit across.

Repeat Rows 1 and 2 until Ear Warmer measures approximately 21" (53.5 cm) from cast on edge, ending by 
working Row 1.

Bind off all stitches loosely in knit, leaving a long end for sewing.

With right side of Ear Warmer together, whipstitch ends. Turn right side out.

now you can knit  
with a crochet hook!{ }Knookthe

™



ABBREVIATIONS
ch(s)	 chain(s)
cm	 centimeters
K	 knit
mm	 millimeters
P	 purl
st(s)	 stitch(es)

( ) or [ ] — contains explanatory remarks.
colon (:) — the number(s) given after a colon at the end of a row denote(s) the number of stitches you should 		
	 have on that row.
right vs. wrong side — On the finished piece, the right side of your work is the side that the public will see.

GAUGE
Gauge is a measurement of the number of stitches and rows in a 4" (10 cm) square piece in the pattern you‘re 
working. Finding the exact gauge is not important for this pattern as the Ear Warmer can be a little larger or 
smaller without changing the overall effect.

*photo model made using Red Heart® Shimmer™ #1625 Lime.
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